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AT A5 :

fFeferiiad e #t S5a FraeT @ gy 3R 37T Tdt & qra HIT:

1. 39 J9-9 § FeT 12 I97 & | @t 397 7f3ar 7 |

T8 J-UF 19 @Uel § [91foid 8-@ve &%, @ U9 T

TUS - 3 G&I1 1 @ 3 a9 3fd dg3T0T IR & T3 & | i I 2 37 %1 & |
WIS W J9 G&IT 4 T 11 T Tg3IT0T TR & 97 8 | I J9 3 3% #1 3 |
QUE TN~ I3 GEIT 12 Hd TR T34 8 | I8 I3 5 37 H7 8 |

SN

ST 2o7cT TF hoAgpeiet 1 JI1T qicid & |

©usg <h

1. F=fafaa stfufsmnett 6 =men Hifse: 1x2=2
(a) ITe% TRy STU=rA

(b) FHiamRr ffsran

2. Tfefaa = sfgRaa qurend & sgd e § safem Hiflw - 1x2=2
(a) CH;COOH, CICH,COOH, FCH,COOH (3Trera1 ame)
(b) CH;CHO, CH3CH,0H, CH3;CH,CH; (Fa2HTeh)

3. T=faRaa st & s fafew (FE @) - 1x2=2

(a) foreht rfuforan & o foms & fefaRaa e @ 3a afafeen i & H
&AM I :
Lmol's™

(b) ] A 1 B H &Y fgefia ife i Safaehl o &9 gar &1 Afg A 6
Trgar A T R @ Se dt B % Ao g9 % S W g g9 ?

(c) I hife i afufsran o fotu TmmRfcra S TieRor o1 =eteh forfaw |
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General Instructions :

Read the following instructions very carefully and strictly follow them:

1.
2.
3.

1.

2.

3.

This question paper contains 12 questions. All questions are compulsory.
This question paper comprises of three sections- Section A, B and C.

Section A — Q. No. [ to 3 are very short-answer type questions carrying 2 marks
each.

Section B — Q. No. 4 to 11 are short-answer type questions carrying 3 marks each.
Section C — Q. No. 12 is case based question carrying 5 marks.

Use of log tables and calculators is not allowed.

SECTION A

Explain the following reactions : 1x2=2
(a) Wolff Kishner reduction

(b) Cannizzaro reaction

Arrange the following in the increasing order of the property mentioned : 1x2=2
(a) CH3COOH, CICH,COOH, FCH,COOH (Acid strength)
(b) CH3CHO, CH3CH20H, CH3CH2CH3 (B0111ng Points)

Answer the following questions (Do any two) : 1x2=2

(a) Identify the order of reaction from the following unit for its rate constant :

Lmol 's™!

(b) The conversion of molecules A to B follow second order kinetics. If
concentration of A is increased to three times, how will it affect the rate of
formation of B?

(c) Write the expression of integrated rate equation for zero order reaction.

3 2R [P.T.0.
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U @
4. (%) Ffafaa & foe s faftgu 1x3=3
(i) iU i gort § Ul @ pk, T ek BT 2 |
(i) URem Fier-srren stffrar 78 2ar 2 |
(i)  qfiares WHET < gorT | snefies W o Faeeie St B © |
Iroran
(@) (i) Fe=fataa et s e fooem § 3T arehdr amed & dgd e
afeda I 1x3=3
CH; NH,, (CH3) 3 N, (CH;3),NH
(i) feoent srfirrtdes 7 2 ?
(iil) AT i e stfufeen § fEE 6t fien w2 7
5. (a) 77 9%« &1 IUPAC 9™ faRau - 1x3=3
K3[CI‘(C204)3]
(b) fsreear & firgia & Ter W d° 3R =1 Sl fa=ma fufy, afe
A, < PRI
(c) 3wedt fore = 8 ?

6. (a) AHTTS TFHA o hig g gRomy forfey | 2+1=3
(b) 3d #vft & 3W q H1 AW faRgy S TRfieEr srETenet i gaifte e
T T & | BT ST |

7. o # feu U srerg w1 st Hife e fe gt % 3w fafae: 1x3=3

log ([R],/[R)—>

o

9y —>

(a) rf¥fspan <Y Aife T 2 7
(b) =5k =1 Il %1 & ?
(c) k 3T £, (T ) o TeF Hay fafaw |

4 -
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SECTION B
4. (a) Account for the following : 1x3=3

(1) pky, of aniline is more than that of methylamine.
(1))  Aniline does not undergo Friedel-Crafts reaction.

(111))  Primary amines have higher boiling points than tertiary amines.

OR
(b) (1) Arrange the following compounds in the increasing order of their basic
strength in aqueous solution : 1x3=3

CH3 NH,, (CH3)3 N, (CH3),NH
(i)  What is Hinsberg’s reagent ?

(i11)) ~ What is the role of pyridine in the acylation reaction of amines?

5. (a) Write the IUPAC name of the following complex : 1x3=3
K3[CI‘(C204)3]
(b) On the basis of crystal field theory, write the electronic configuration of d° ion
if Ao < P.

(c) What are ambidentate ligands ?

6. (a) Write any two consequences of Lanthanoid Contraction. 2+1=3

(b) Name the element of 3d series which exhibits the largest number of oxidation
states. Give reason.

7. Observe the graph shown in figure and answer the following questions : 1x3=3
&
=
=
=0
-3
0 Time —>

(a) What is the order of the reaction ?
(b) What is the slope of the curve?
(c) Write the relationship between k and ¢, (half life period).

5 2R [P.T.0.
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9.
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frefefaa wemt & foe swror s 1x3=3
(a) ThUTT T 3T 37k ik 390 I T H1E Hd 2 |
(b)maﬁﬁﬁgﬂmﬁm( T AH 3T FIMHS ¢ |

Mn2+/Mn)

(c) Cr*' U Yol 3= 2 |

(F) (i) Tehea 6t uiamsT ferfa | 1x3=3
(i) wET-yea fem fofaw |
(iii) SEA T T = R ?
HAYAT

(@) wifaes fereyor g et STy & mey i 3T forfaw | 1x3=3

W Aifies B> fAfifd &t 21 B, Br, 3R Ucshlgicdl TIe™ & ®1Y TH e
ifies «C* Ffda s & foment o7foass g3 CH/N 2 | Herg Afufsramd fafae
3R A, ‘B, <C’ il v FIfT |

Pe)

(@) T s ‘A’ T AR AR RS S gRI Y= &R Ak B’ T 3
g f5os onfiss ¥ C¢H,N 21 CHCl; 3R Uewhigiet KOH % @19 ‘B’
Affshan stk <C % o o Hrw g Fifdauda Ianfed war 21 “A”,

‘B’ 3R C’ il yg=H Hhifore 3R werg stfufsram fafe |

. (%) Tm=faRad = gof Hifv: 1x3=3

1. ATH(-Bu H,N-OH
( )2 A 2
2. H,0 H*

(ii) Tr=fafaa Fifies =1 IUPAC T foaRaw :

©/ CHO

Br
(iii) Trfafaa difient & aea fave w0 & fore e wheor fafau
FATe R d=igeh 3T
g1
(@) T=faftad s S 1x3=3

(i) IIEH o ¥ Tafcearse

(i) TUA-1-3fTd & 2-sNHTNAES 30

(iii) UHefreerss @ sg-2-3ia

() CH;CN
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8. Give reasons for the following statements : 1x3=3

(a) Transition elements and their compounds act as good catalysts.
(b) E° (Mn2+ /Mn) value is highly negative as compared to other elements.

(c) Cr*" is a strong reducing agent.

9. (a) (i) Define coagulation. 1x3=3

(i1) State Hardy-Schulze rule.
(ii1)) What is Electrophoresis?

OR
(b) Write three differences between Physisorption and Chemisorption. 1x3=3
10. (a) An aromatic compound ‘A’ (C7H¢O,) on reaction with aqueous ammonia and 3
heating forms compound ‘B’. ‘B’ on heating with Br, and alcoholic potash
forms a compound ‘C’ of molecular formula CsH;N. Write the reactions
involved and identify ‘A’, ‘B’, ‘C’.
OR
(b) A compound ‘A’ on reduction with iron scrap and hydrochloric acid gives 3
compound ‘B’ with molecular formula C¢H7N. Compound ‘B’ on reaction with
CHCI; and alcoholic KOH produces an obnoxious smell of carbylamine due to
the formation of ‘C’. Identify ‘A’, ‘B’ and ‘C’ and write the chemical reactions
involved.
11. (a) Complete the following : 1x3=3
. 1. AIH(i-B H,N-OH
()  CH,CN (TR, '
2. H,0 H
(i1) Write [UPAC name of the following compound:
CHO
Br
(i11) Write chemical test to distinguish between the following compounds :
Phenol and Benzoic acid
OR
(b) Convert the following : 1x3=3

(1) Benzoic acid to Benzaldehyde
(i1) Propan-1-ol to 2-Bromopropanoic acid

(ii1) Acetaldehyde to But-2-enal

7 2R [P.T.0.
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STTFHTRLUT- ST SATHTRATE, AHT: (S SATARATHAT o &9 H T St & | 3
T TR gEd | SoiagH SAMIl 8 H6g Bl @ | T o Satad iR |
IcafSid Foll ol ATHE™® hE i o 10 ST foram ST Fehal & | SATRAT 6l @
e rfuafsramati o fauren foren Sman 2 | fs umt o1 Su=m foRe ST @ SR gl
H TH AR T g AR T &g UH IR ST § AR A1 7 3TN 3 YER Th
gicers /AeeHl Ha o9 A1 2 | I8 U ogd (RS dd @ S &&a: Jafdd e
srfufsranati i foRa IcuTed &g ST AT 2 | U Tav-Hg & I -dal Hl Srean
7 | AiceHiet 1 UIgAT U e A1 U fa9a A1 ¥ Igd dTes 9 Jardl @ | Al
Ou EFTCHS 2 A1 AT Tad: Jafad & 3R afg a8 womedss & a1 Afwfshan w=a:
JTyafad & 3R 36 SEa ATEeH A & &9 § 3fgRaa foran Sram 2 | SEa s19ered @
fereft werel % forera g eTeed o w9 # 3fgRaa forn sran 71 forehh o § & 19
A e YaTfed foRam St & @ 98 Cu®* S fggaees aifcs ome & 314 7ia
=1 foafSia star 2 | I8 B0 § dyem J9Fd e o i % &9 § yfodfed foma
a1 |

ugred 1 ATeTeRed, TETet 1 98 TUIed § fSEh STHER 98 STl i o9 | ¥ Yarted
B <A1 B TR 38 YR o[ & o1 ITei il & | Freiehal i k § fefua feman
ST 2 S Agd AT Hil i vd Tigar W R el 21 U aifiek am ug
oo 6t AR ATl 8@ S 4 g3 Siad W oo % 39 T 1 Ak @
e 3y Tueed 1 UH Ui go g @ i 98 WER I gff W e, 3o
TR -FIC ST & ol SAdeiSl & AT T@T A1 81 | goicd agd A6 hl HHid
Hier ATetehl ATere™ fafer gry e i <t s gt 2 |

e - 1 =e

A +
202 (aq) g"(aq)

8 2
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SECTION C

12. Read the passage given below and answer the questions that follow : 1+1+1+2=5

Oxidation-reduction reactions are commonly known as redox reactions. They
involve transfer of electrons from one species to another. In a spontaneous reaction,
energy is released which can be used to do useful work. The reaction is split into
two half reactions. Two different containers are used and a wire is used to drive the
electrons from one side to the other and a Voltaic/Galvanic cell is created. It is an
electrochemical cell that uses spontaneous redox reactions to generate electricity. A

salt bridge also connects to the half cells. The reading of the voltmeter gives the cell

voltage or cell potential or electromotive force. If EQ,; is positive the reaction is

spontaneous and if it is negative the reaction is non-spontaneous and is referred to
as electrolytic cell. Electrolysis refers to the decomposition of a substance by an
electric current. One mole of electric charge when passed through a cell will
discharge half a mole of a divalent metal ion such as Cu*". This was first formulated

by Faraday in the form of laws of electrolysis.

The conductance of material is the property of materials due to which a material
allows the flow of ions through itself and thus conducts electricity. Conductivity is
represented by k and it depends upon nature and concentration of electrolyte,
temperature etc. A more common term molar conductivity of a solution at a given
concentration is conductance of the volume of solution containing one mole of
electrolyte kept between two electrodes with the unit area of cross-section and

distance of unit length. Limiting molar conductivity of weak electrolytes cannot be

obtained graphically.
Zinc ] Silver
Plate 7 7 T Plate
Salt bridge
Ag'(aq)
Zn*"(aq)
I II

9 2R [P.T.0.
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(a) 1 THeeR wie THIE 7 31aT HUg ? 1
(b) T BT W& ASUI-Tq <Rl geT feam S ? 1
(¢) SRIA THEF I el Sgd AT T il Wifd STTER LT 2 ? ]
(d) (i) 919 Ezq =07 Al Zn*" 3T Ag’ 311 sl Figdl i 1 BITT 7 1x2=2
(ii) Torerm it =retehdT agar & 1Y 1 Tedt ] 7
YT
(d) TF IgYd AT * 1.5 M fIer i Aier arerehar 1389 S cm’ mol 'R 1 3@ 2

faeram <ht TrereRan uitesfera HifSu |

1 B
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(a) Is silver plate the anode or cathode? 1
(b) What will happen if the salt bridge is removed? 1
(c) When does electrochemical cell behaves like an electrolytic cell? 1
(d) (i) What will happen to the concentration of Zn>" and Ag” when Ec. = 0. 1x2=2
(i1) Why does conductivity of a solution decreases with dilution?
OR
(d) The molar conductivity of a 1.5 M solution of an electrolyte is found to be o)

138.9 S cm” mol ™. Calculate the conductivity of this solution.

1 g
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